DELHI PUBLIC SCHOOL JAMMU
ASSIGNMENT NO .3
CHAPTER 3: POPULATION COMPOSITION

1. Which one of the following countries has the highest sex ratio in the world?
(a) Latvia (b) United Arab Emirates

(c) Japan (d) France

2. What is the average sex ratio of the world?

3. Divide population based on the place of residence.

4. What does the figure given below denote? What does the shape reflect?
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5. Observe the given diagram and explain the rural urban composition in the

developed and developing countries of the world.
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6.“The shape of the population pyramid reflects the characteristics of the

population.” Support the statement with examples.

7.. Describe the main characteristics each of the major groups of human

occupations in the world.
8. What do you mean by ageing population?
9. Why have many European countries have deficit males?

10. Discuss the factors responsible for imbalances in the sex-age found in

different parts of the world and occupational structure.
11. How is sex ratio measured?

12. What do you understand by population composition?

NOTE:

» The purpose of this Assignment is to enable the children to judge their own level of learning
and understanding of this Chapter.

Students will submit handwritten answers to me through WhatsApp (N0.9419133423)
Students should write - date, name, class / section on the top of every sheets.

Last to submit the Assignment is 04-05-2021.

It is compulsory for all to submit the Assignment.

No grades will be awarded in case of late submission /Non submission.
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